Name:

Date: / /

\%’ See the group of objects and tick the correct
= statements using Multiplication

j

2008 8838 3333

)

z.% equal group with 8 in each group

" | 4 equal group with 7 in each group

__J 3 equal group with 6 1n each group

—/
S

—
)

BE equal group with 6 1n each group

6 equal group with 5 in each group
__J 5 equal group with 4 1n each group

CIDIIDIIDIID

)4 equal group with 5 1n each group
3 equal group with 4 in each group
4 equal group with 4 1n each group
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[ ] Groups of [ 5 ] equal

< (9 ] Groups of [ ] equal

J

m) ()
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\%’ See the group of objects and write the correct
i e answer using Addition and Multiplication

8+8+38 =24> 5+6=©>
3 groups of 8 = 24> 2 groups of 6 =©>

03 www.kooracademy.com L]
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\" Match the correct answers to the given

multiplication tables

\

BIBB
CEOEY

< Six 6s

<I'hree 6s

<Two 3s

Five 4s

<Four 2s

J

04
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%’ See the group of objects and circle the

j

va correct multiplication sentence
/Eﬂ@@ 3x2\
wlwls :
3x2 y
‘00000 2x5
5x3
3x5
\ %
/..A 6x4\
Bl EIR NN
3x6
. Bl R NN 6x 3 )
Rk Kk kK axa
w W X ) & & ¢
4x6
%k & w Ok W
. %k Kk w Ok W 6x4

05 www.kooracademy.com
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%.’ Fill in the blanks to described multiplication sums

LJ

(833 (393 (vo%
A K A K A K
3 groupswith 6  oranges each.

__ Total number of oranges are 18 . Y

(0eeee(00eee s000d (0000
____groupswith pentagons each.

\_ Total number of pentagonsare )

\

Ta 8 a]{a a a][a a a][e 8 a]{a 8 a]

_____ groups with cakes each.

Total number of cakes are

K —_—— e —
_____groupswith butterflies each.
Lk Total number of butterflies are = . /J

06 www.kooracademy.com L]
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Tick the correct answer to the given
multiplication sums

- D
> 25

7x5
& 35
; D
<> 42

6x7
<> 54
; D
<> 10

3x10
<> 30
; D
> 54

9x6
<> 64

- D
<> 24
8x3
14
- D
(D
<> 20
2x9
> 18
; D
<> 20
5x4
> 25
; D
<> 52
4x8
<> 32

07
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\%’ Color the correct answer to the given
Dzl multiplication sums

www.kooracademy.com
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\%’ Match the correct multiplication sums

p|KOOR ACADEMY 4

with their answers

>
p
U:J:EQ 6x2
\
p
@:EQ 8x3
\
p
trr] 2x10
-
p
U:J:EQ 7x4
\
p
U:J:EQ 5x9
\
p
U:J:EQ 3X6
\
p
T 9x3
.

)
—

J

)

AN

AN

~N

N
/.

/O

\-

OEO Js0) (0] (D] (0=0] (0= (080

N N
;/

09
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%’ Multiply the given sums and fill the answers

pIKOOR ACADEMY
A d

132)[ 2436 40 28| 40][ 25] 15| 20 35]

7042 {406 | 7 [[18 ] o [[15][24 ] 27]



%’ Multiply the numbers and write the

j

Lv; correct answer
2X6= >@ 4x38= ><>
5X2= ><> 6x0= ><>
8X3= X> 7 X9 = ><>
3% 10 = X> 2% 3 = ><>
9x5= ><> 10x6 = ><>
6x9 = ><> 8x10= ><>
/X8= ><> 5x7= ><>

\

11
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r\%{" Read the multiplication se
color the

ect a

|
ntence and

4x9

Lo/

10x 7
7 x10

nswer
/7 X5
5x7

[Go) )|
\axs /

o)

GG\

\sa/

J(a0) as))
\oxs/

Olo)

Lo/

o)

5/

Vo /

@)
N

(@G,

)

\8x2/

o)
www.kooracademy.com
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rﬂ’ Choose

and write the correct multiplication terms

\

e (Multiplicand, Multiplier, Product)
4 . \ J— O
32 2 Multiplier 2 2
X 2 L X7
64 64 \ Product ) 14 \ 7 ) )
\ 9%
/ S ) \
6 |6 8 |7 \
X3 X7
18 [3 56 |56 |
\ 9%
/ — — \\
10 |40 20 | 3
ca (3
40 |10 60 |60 ,
\ 9%
/ ) ) \
5 6
45 (9 90 (90
N %

www.kooracademy.com
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\%’ Choose and write the correct multiplication terms

\

oo cci) (Multiplicand, Multiplier, Product)

4 N
1)3x5=15 5is _ Multiplier
2)6x2=12 6is __
3)4x7=28 Jis
4)5x1= 5 5is __
5)2x4=8 2is
6)7x0=20 7is __
7)8x3=24 3is
8)9x4=36 36is _
9)5x2=10 10is _ _

10)1x6= 6 lis

N /

14
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\%’ Read the multiplication sentence and choose,
oo cci) color whether it is True or False

1) 4x6=24 False
2) 3x7=21 False True
3) 5x4=15 False True
4) 6 x3=17 True False
5) 7x5=35 True False
6) 2x8=20 False True
7) 8x1=38 False True
8) 9x2=22 False True
9) 7x4 =28 False True
L )

15
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“L’ Count and write the correct Addition

e and Multiplication sentence
K[ﬁﬁﬁ] BE= N EAEAER)

ollel= (2l |
2ixel=(2l | O]

. N\

oL e- )| @-@-a
@O @-m-a

Fedededod) Fededcdon]
[Fede A A X]




%’l Tick

pKOOR ACADEMY ¢
~

17

3x6= a)28 18
5x9=<:> a)45 Db) 55
8x8=<:> a) 54 b) 64
2x7=<:> a)34 b)24
6x4=<:> a)24 b) 20
7x5=<:> a)25 b)30
4x8=<:> a)22 b)32

www.kooracademy.com

and write the correct answer to the
given multiplication sentence

c) 24

c) 35

c) 44

c) 35

c) 42

m) ()
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%.’ Fill in the blanks to described multiplication sums

LJ
Pictures Multiplication Sentence
i) (i) (i 6 groupsof 4
— = = 6x4= |
s is equalto_24_.
e i __ groupsof _ _
— — | 4x2=
%‘%ﬂ %‘%ﬂ is equalto
>ﬁﬁﬁ< __groups of
Gl ¢lilp @p| | 3 X 3 = _
ﬁﬁﬁ is equalto .
00000/00000) __ groups of _ _
00000)00000)| 5x5 = |
00000 is equalto .
rahsasn __ groupsof __
———— | 2x 7=
sfamaaag is equalto_ _ _

18 www.kooracademy.com L]



%’ See the number line and color the
Lj correct multiplication sentence

‘(\f\(\mwwt’

0O 4 8 12 16 20 24 28 32 36 40
[5x4=20 J [ 3x4=20J [5X5=20 J

N e I e

O 7 14 21 28 35 42 49 56 63 70
[7x7=49 J [9x6=56 J [8x7=56 J

N A e

O 5 10 15 20 25 30 35 40 45 50
[8x5=40 J [9X5=45 J [7x9=63 ]

AT

O 3 6 9 12 15 18 21 24 27 30
[3x8=21 J {4X7=28 J [7x3=21 J

\. J

19 www.kooracademy.com L]




%’ Count and write the correct number
LJ and number sentence

O 7 14 21 28 35 42 49 56 63 70
Jumps 5
Count by : 7

U U

O 10 20 30 40 50 60 70 80 90 100
Jumps
Count by :

Number sentence: 5x7 =35

— Number sentence:

N e e
O 5 10 15 20 25 30 35 40 45 50
Jumps

Count by :

— Number sentence:

O 6 12 18 24 30 36 42 48 54 60
Jumps

Count by :

—— Number sentence :

20 www.kooracademy.com L]




%’ See the number line and fill the correct
L; multiplication sentence

0 8 16 24 32 40 48 56 64 72 80
[7x8=56]

200000000000

O 4 8 12 16 20 24 28 32 36 40

| |
00000000008

O 9 18 27 36 45 54 63 72 81 90

[ J

O 3 6 9 12 15 18 21 24 27 30

| |

21 www.kooracademy.com LL]




\%{" Draw a number line and write the answer

i s to the given multiplication sums
)8x4= (32]

N i i i e e e e
\ 0O 4 8 12 16 20 24 28 32 36 40
i) 7x9= |

T 1 T 1T T 1T 71 717171
\ O 9 18 27 36 45 54 63 72 81 90
i)5x8= |

T 1 1 1 71 1 71 1717171
\ 0 8 16 24 32 40 48 56 64 72 80
’iv)9x3=C}

T 1T 17 1T T 1T 1T 71 7171 1

0 3 6 9 12 15 18 21 24 27 30

22 www.kooracademy.com
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Multiply the sums and write the

-

9
X

N

correct answer
4 N\ 4

7 4
X 5 X a4
\ J \
4 I 4

8 2
X 3 X 6
\ J \
4 I 4

9 3
X g X 9
\ J \
4 N\ 4

8 6
X 7 X g

J

-

23
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\%{" Multiply the sums and write, tick the

11 correct answer
(18 | a)26  b)37 36
2
36 Ans: 36
24 a)72 b)75 )76
3
Ans:
(15 a)65 b)60 )70
4
Ans:
17 a)85 b)87 )95
5
Ans:

24
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@
%;’ Multiply the sums and write the answer

O

D

p|KOOR ACADEMY [
)
T O
1 /
X 3
5 1
—
0 9
X 8
T O
1 0
X 7

25
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%’ Read the statements and color the

LJ correct answer (True or False)
(If a car has 4 wheels \( If a basket contains

4 cars have 20
wheels.

If a cage has 5 birds,
10 cages have 52 7/
Birds.

o N\
(Ifa chick has 2 legs. A
10 chicks have e

20 legs.

8 apples, 2 baskets
contains 16 Apples.

(1 a bag contains 6
books, 9 bags
contains 54 bags.

\

‘If a crabs has 10 legs,
7 crabs have 75 legs

J

26
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%{" See the images, read the question and write

oz a correct number, number sentence
1) How many plants are there ? _ _7_ plants.

2) How many leaves are there in each plants? 5  leaves.

3) How many leaves are there altogether?7 x 5 = 35 |eaves.

1) How many tables are there ? _ _ _tables.

2) How many legs are there in each tables?  |egs.

3) How many legs are there altogether? legs.
B B

1) How many trays are there ? _ _ _trays.

2) How many eggs are there in each tray? ___egss.

3) How many eggs are there altogether? egsgs.

27 www.kooracademy.com
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